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YAl (1) AL wia weedl quil.
Instruction : Write answers on given five.

(2) &35 ORL AL 9.
Each carry equal marks.

A2l vaal [@Qoid duendl : 14
5120l 918 Yelal (G.D.P.) Alv{l 9euelsl (N.D.P.) i Alvofl vl uglal (N.N.P.)
Explain in detail given concept :

Gross Domestic Product, Net Domestic Product, and Net National Product.

2HUA/OR

(@) A WA ALY s, 7
National Income at factor cost.

(b) dAwrdlas 2uas. 7
Real Income.

(@) ®URAHL HaLels a5l aaell. 7
Trends of percapita income in India.

(b) uptel ukl s AHidlRs el 7
Gross domestic product after Independence.

§194/OR
ARAMHL A s Wl uglail. 14

Write on methods of National Income measurement in India.

AL vl AL 0 AHER, GLOMRAUER, YYE, ddldlgeR, auma eluRel,
Rl ofludl, U €. 14

Explain the concepts : Birth rate, Infant mortality, Death rate, Population growth rate,
Age (group) composition, Population density, Fertility rate.

AYP/OR
RAML % HER Vil YR A5l WROOL AUl
Examine factor affecting Birth rate and Death rate in India.
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4. (@) axdl AsHRil Rgid.
Theory of demographic transition.
(b) cuRdHL 19512 A&l
Literacy rate since 1951.
A1Yq/OR
(@) ®Rd AR adHit axdl-ll.
Recent population policy of Government of India.
(b) 2011l ardll 2R1dFlAL veaa.
Brief review of Census 2011.

5. (A) AL [l dudl -

Do as directed : True or False :

(1) Rdl waHl Yor Wl dla il ela .
There is a crave for male child in India.

(2) RAYSA S UAL UAdM Sld dal saMl Ut g2 Gl wal va .
Fertility rates are high in joint family countries.

(3)  IRdML 1921+, A H&lAdIESs dils oy €.
1921 is a great divider in Indian population.

(4)  séot Rl vied 2dlFd .
Family planning means planned peternity.

(5) 201141 MIRAHL A2l 1.21 2o edl. &/l
There were 1.21 population in India during 2011.

(B) oig [asedly usl :

MCQ :

(1) 20111 azdl aweldl Yol lRdHl AlERdIAL 82 524l edl ?
(@ 66.3% (b) 70.4%
(c) 71.2% (d) 74.04%
According to 2011 census literacy rate in India.
(@) 66.3% (b) 70.4%
(c) 71.2% (d) 74.04%

(2) 201141 Al adll oladi sedl ¢dl 2
(@ 117 (b) 313
(c) 300 (d) 382
Population density in India during 2011.
(@ 117 (b) 313
(c) 300 (d) 382

(3) 2011M0 GURdHL % e UHILL ¥ed, ed ?
(@ 39.9% (b) 24.8%
(c) 28.8% (d) 20.97%
Birth rate according to 2011 Census.
(@ 39.9% (b) 24.8%
(c) 28.8% (d) 20.97%
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(4)

(5)

(6)

(7)

(8)

©9)

N

A A a8, Al A A8 Sl SUL SIRVIU AY, SlU 9 ?

(@) =AU WA (b) RUs12L WY

(€) AN WA (d) auziall Wi

Why net domestic product greater than gross domestic product ?
(@) Depreciation Cost (b) Investment Expenditure

(c) Public Expenditure (d) Consumption Expenditure
alRdul 9¢d Al Aned sui i sl »udl edl.

(@ 1990 (b) 1981

(c) 1999 (d) 2000

Last in which year Government declared new population policy ?
(@ 1990 (b) 1981

(c) 1999 (d) 2000
AU wi1as sedl euygilaiol sl © ?

(@) s (b) =L

(c) AR (d) uia

How many side’s coin a national income ?

(@ One (b) Three

(c) Four (d) Five

P IEICER I RER TR,

(@ GNP (b) GDP

(c) ADP (d) PPP

What do we mean by Total National Income ?
(@ GNP (b) GDP

(c) ADP (d) PPP

eIl B sl ALY Alasul AxLdaL Adl .

(@) “mye -l

(b) [afAHy udl )

(c) -ueuddldl <2l

House Wife’s work remuneration not included in national income accounting,
(@ No market value

(b) No exchange

(c) No monetary transaction

A AU a5l dR1alHE ARSIRAL sUL W GHRAAL Al ?

(a) el w3l (b) augl w2l

(c) RUswL vl (d) oeal sHell

Which government expenses are not included in Total National Income ?
(@) Defence Expenses (b) Consumption Expenses

(c) Investment Expenses (d) Transfer Payments
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